4’x6’ Padvault

GV 231 x Single Phase
Pacificorp

‘ Oldcastle Precast’

SINGLE PHASE SECTIONALIZING CABINET PADVAULT, STOCK ITEM 1720626
SINGLE PHASE FUSING CABINET PADVAULT, STOCK ITEM 1720645
SINGLE PHASE TRANSFORMER PADVAULT, STOCK ITEM 1006379

TOP

PCORP #1720626 |
1,875 LBS. FULL 180" OPEN

(TYPICAL)

NO. 2436P GALV. DIAMOND
PLATE DOOR W/
LOCKING HATCH

3/8" DIA. INSERTS W/ SS
BOLTS & BELLVILLE WASHERS
4 EA. REQ'D.

18" X 32" BLOCKOUT

5—0" LONG GALV. "C” CHANNE
2 EA. REQD.

(1 EA. NEAR WALL

1 EA. FAR WALL)

3'—0" LONG GALV. "C” CHANNEL
2 EA. REQD.

(1 EA. NEAR WALL

1 EA. FAR WALL)

GALV. PULL IRON
4 EA. REQ'D.
(1 EA. CORNER)

18" X 18" KNOCKOUT
4 EA. REQ'D.

(2 EA. NEAR WALL
2 EA. FAR WALL)

1/2” DIA. GROUNDING INSERTS
4 EA. REQD.

(2 EA. OUTSIDE WALLS

2 EA. INSIDE WALLS)

BASE

7,061 LBS.

127 X 18" KNOCKOUT
4 EA. REQ'D.

(2 EA. NEAR WALL

2 EA. FAR WALL)

1" DIA. KNOCKOUT
2 EA. REQ'D. IN FLOOR

OPTIONAL TOPS

26" X 26" BLOCKOUT

PCORP #1006379
1,823 LBS.

PCORP #1720645
1,944 LBS.



W/ LOCKING HATCH/ 26" X 26" BLOCKOUT 7’0" /
7'-0" f —6 6’0 6" |~
e | 50’ [ el 10" — 1'-8" -1
0 /3,72 | ” —9” 3-3 2-4" {8 |— |
SN LSSl L

777772

3/8” DIA. INSERTS W/
HOLD—DOWN CLEATS
(SEE DETAIL 1)

2 EA. REQ'D. IN LID

PLAN VIEW

SINGLE PHASE TRANSFORMER
PCORP #1006379

7
6’

-0"
-0

1-8" 5”

1’6"~ |~—86"

Y WXV

7 LN T
522 o

3/8" DIA. INSERTS W/ SS
BOLTS & BELLVILLE WASHERS

6 EA. REQ'D. IN LID
PLAN VIEW
SINGLE PHASE FUSING CABINET
PCORP #1720645

&Wﬂ

N\

D

{(i 3

STAINLESS STEEL
BELLVILLE WASHER

HOLD DOWN CLEAT
DETAIL 1

1.1/4" X 2 1/2" STAINLESS STEEL HOLD-DOWN CLEAT — 2 REQ'D.
3/8" X 1 1/4” STAINLESS STEEL BOLT - 2 REQ'D.

Y o
a STAINLESS STEEL
BOLT
STAINLESS STEEL
. - HOLD DOWN CLEAT
79
~ % o
L
..‘ -
- o

3/8" DIA. INSERTS W/ SS
BOLTS & BELLVILLE WASHERS

4 EA. REQ'D. IN LID
PLAN VIEW

SINGLE PHASE SECTIONALIZIN
PCORP #1720626

5'—0" LONG GALV. "C" CHANNEL

2 EA. REQD.
(1 EA. NEAR WALL
1 EA. FAR WALL)

G CABINET

18”7 X 18" KNOCKOUTS
4 EA. REQ'D.

(2 EA. NEAR WALL

2 EA. FAR WALL) ‘

3/8" STAINLESS STEEL BELLVILLE WASHER — 2 REQ'D.

" X 327 BLOCKOUT

2'—0" LONG GALV.
2 EA. REQ'D.

(1 EA. NEAR WALL
1 EA. FAR WALL)

127 X 18” KNOCKOUTS
4 EA. REQ'D. |

(2 EA. NEAR WALL\ a-% \L ‘%‘L

2 EA. FAR WALL)

"C” CHANNEL

1-r

T

Oldcastle Precast
801 West 12th Street
Ogden, Utah 84404

w’—yk 2'—6" —=f
12" DIA. SUMP

FI F\/ATINNI

1'-6”

\/IF\N

For more information about our products, please visit
oldcastleprecast.com

Phone: (801) 399-1171
Fax: (801) 392-7849

|
GALV. PULL IRON N 7
4 EA. REQD. \ \ o
(1 EA CORNER)\ ‘ | !
N b
T
1” DIA. GROUND /ﬁ too o ﬁ\
ROD KNOCKOUT
(2 EA. REQ'D. IN FLOOR) 9" f—= 1'-86" — 97 L
1'—0 1'—0
END VIEW

*LIFTING DEVICE TYPE & LOCATION

MAV AUANCE WWITUNLIT NATIAT

oldcastleprecast.com

© 2008 Oldcastle Precast, Inc.





